1°83

80

1100

620
550
Z |
&
@\Cj% =
|
o ||
[IINS)]
mfm |
620
550 _
‘@150‘
Q.
— ]
i
i |
i
QU]
] =\

103

620
- 550
@150‘
Q@ Q | %A
i
i
i =
i
| 120
0 B2
i
QU]
—
=

1°83

1 CABINET 1 | 550 x 550 x 1100 x 1.6t
2 | TURBO BLOWER 1 0.75kw x 12CMM x 200mmAq
3 | CARBON FILTER 1 | 450 x 400 x 100t
4 | CFMFILTER 1 | 450 x 400 x 100t
S5 | PRE FILTER 1 | 450 x 400 x 20t
6 | OUTLET FLANGE 1 | 4150
7 | LIFT LUG 4 | I-NUT M12
8 | CONTROL PANEL 1 | CONTROL SWITCH
9 | POWER CABLE 1 | V.C.TF CABLE
10 | INLET FLANGE 1 | 8125
11 | CASTER 4 | ROTATION 3* STOPPER
SPECIFICATION
MODEL NAME | NOD-10 OPTION -
FAN SPEC.
FAN DIVISION | TURBO BLOWER
AIR VOLUME 12 CMM STATIC 200 mmAq
MOTOR 075 kw [1HP] POWER 380V x 3P
FILTER SPEC.
ST PRE FILTER MATERIAL | POLYESTER
SIZE | 430 x 400 x 20t AREA -
2TH CFM FILTER MATERIAL | GLASS
SIZE | 450 x 400 x 100t AREA -
CARBON FILTER MATERIAL | CARBON
3 SIZE | 450 x 400 x 100t AREA -
¥x¥x PAINT COLOR xxx
BODY : EX8816¢(S) 5Y %
DOOR : EX8816-DICS46 %
2 e anwun _ Lbz2 b&lsnz a3 | cusTMR | -
n ISCALE 1/1| TME | MINUTE DUST COLLECTIR
NANOS  ["1RaWN [aPPROVED
saweqzuwy | M | - | (VMG | NOD-10
wwwl-nanos.cokr 121031 -




/30

680

1563
1380

.80

103,

ﬂ_ _
c
- \S\,
3z
y/]
750
680
920
| | @
]
]
LS
]
Lt
]
g
i

/50
680
| 9200
[ | @9 =
=
@
150
@
<

1563

1 | CABINET 1 [ 680 x 680 x 1380 x 1.6t
2 TURBO BLOWER 1 1.5kw x 25CMM x 230mmAq
3 | CARBON FILTER 1 | 610 x 610 x 150t
4 | CFMFILTER 1 [ 610 x 610 x 150t
5 | PREFILTER 1 [ 610 x 610 x 20t
6 | OUTLET FLANGE 1 [ #200
7 | LIFT LUG 4 | I-NUT MI2
8 | CONTROL PANEL 1 | CONTROL SWITCH
9 | POWER CABLE 1 | V.CTF CABLE
10 | INLET FLANGE 1 | 2150
11 | CASTER 4 | ROTATION 3” STOPPER
SPECIFICATION
MODEL NAME | NOD-20 OPTION -
FAN SPEC.

FAN DIVISION | TURBO BLOWER

AIR VOLUME 25 CMM

STATIC 230 mmAq

MOTOR 1Skw [2HP] POWER 380V x 3P
FILTER SPEC,
ST PRE FILTER MATERIAL | POLYESTER
SIZE | 610 x 610 x 20t AREA -
2TH CFM FILTER MATERIAL | GLASS
SIZE | 610 x 610 x 150t AREA -
CARBON FILTER MATERIAL | CARBON
3 SIZE | 610 x 610 x 150t AREA 29 Kg

xxx PAINT COLOR xxx
BODY : EX8816¢S) 5Y %
DOOR + EX8816-DICS46 %

a4 weqawan_ LHz 2 b&lsnz A3 | CUSTIMER

L1 ISCALE 1/1 TITLE

MINUTE DUST COLLECTIR

NANDS  [“1rawN [aPPROVED)
NANDS

2998 4z gyl BBN - Ve L
wwwl-nanos.cokr 1210.31 -

NOD-20




850

/80

850

1973
1770

100

==

T

==

103,

|_2200_|

1 | CABINET 1 [ 680 x 680 x 1360 x 1.6t
2 TURBO BLOWER 1 1.5kw x 25CMM x 230mmAq
3 | CARBON FILTER 1 | 700 x 700 x 200t

4 | CFMFILTER 1 [ 610 x 610 x 292t

5 | PREFILTER 1 [ 610 x 610 x 20t

6 | OUTLET FLANGE 1 [ #200

7 | LIFT LUG 4 | I-NUT MI2

8 | CONTROL PANEL 1 | CONTROL SWITCH

9 | POWER CABLE 1 | V.CTF CABLE

10 | INLET FLANGE 1 | 2150

11 | CASTER 4 | ROTATION 3” STOPPER

100

el

170

1770
1973

103

¥xx CHECK POINTS *xx
A. 37t CARBON FILTER BOX mat &7

SPECIFICATION
MODEL NAME | NOD-30 OPTIN | -
FAN SPEC,

FAN DIVISION | TURBO BLOWER

AIR VOLUME 40 CMM

STATIC 230 mmAq

MOTOR 22kv [3HP] POWER 380V x 3P
FILTER SPEC.
PRE FILTER MATERIAL | POLYESTER
15T SIZE | 610 x 610 x 20t AREA -
CFM FILTER MATERIAL | GLASS
em SIZE | 610 x 610 x 292t AREA -
CARBON FILTER MATERIAL | CARBON
3 SIZE | 700 x 700 x 200t AREA 50 kg
¥x¥x PAINT COLOR xxx
BODY : EX8816¢(S) 5Y %
DOOR : EX8816-DICS46 %
2 e anwun _ Lbz2 b&lsnz a3 | cusTMR | -
n ISCALE 1/1| TME | MINUTE DUST COLLECTIR
NANOS  ["1RaWN [aPPROVED
saweqzuwy | BM | - | (VMG | NOD-20
wwwl-nanos.cokr 121031 -




100

c2/8
2090

128,

1 CABINET 1 850 x 780 x 2050 x 1.6t
2 TURBO BLOWER 1 3.7kw x 60CMM x 230mmAq
920 3 | CARBON FILTER 2 | 700 x 500 x 150t
850 | 4 | CFMFILTER 1 | 610 x 610 x 292
! 5 PRE FILTER 1 610 x 610 x 20t
7] N — 6 OUTLET FLANGE 1 300
3 7 LIFT LUG 4 | I-NUT M2
s 8 | CONTROL PANEL 1 | CONTROL SWITCH
T 9 POWER CABLE 1 V.C.TF CABLE
§ % 10 | INLET FLANGE 1 8250
11 | CASTER 4 | ROTATION 4 STOPPER
b
A\ ¥xx CHECK POINTS *xx
A, 3x CARBON FILTER BOX M™I&f &7
920 8950
850 /80
‘ $300 ‘ ‘ ?300 ‘
| -1 @ | | @ =
i
N 1 SPECIFICATION
MODEL NAME | NOD-50 OPTIN | -
FAN SPEC,
i FAN DIVISION | TURBD BLOWER
[ i, =] AR VOLUME | 60 CMM STATIC | 230 mmAq
I MOTOR 37kv [S5HPI POWER | 380V x 3P
i FILTER SPEC.
o7 |PREFLLTER MATERIAL | POLYESTER
SIZE | 610 x 610 x 20¢ AREA -
oy |LCFMFILTER MATERIAL | GLASS
! SIZE | 610 x 610 x 292t AREA -
o o CARBON FILTER MATERIAL | CARBON
I g Q ™z | 700 x 500 x 150t x 2EA AREA 55 Kg
i
*xx PAINT COLOR *x%%
! 180 BODY : EX8816¢(S) 5Y %
DOOR : EX8816-DICS46 %
_ 2
&
] i % e weqewun  LH=2 b&lSIZE A3 CUSTOMER -
L1 ISCALE 171 TITLE MINUTE DUST COLLECTIR
U @ NANDS  [“1rawN [aPPROVED)

saweazgen | BaM | - | NS | NoD-50
wwwl-nanos.cokr 121031 -




1670

1600

el

?300

850
920

1670

1600

?350

£P88

100

2060

1

i f

1

1

i f

178

?300

1 | CABINET 1 [ 1600 x 850 x 2060 x 1.6t
2 | TURBO BLOWER 1 | SSkw x B0CMM x 230mmAq
3 | CARBON FILTER 4 | 700 x 400 x 150t

4 | CFMFILTER 2 | 610 x 610 x 150t

S | PREFILTER 2 | 610 x 610 x 20

6 | OUTLET FLANGE 1 [ ¢330

7 | LIFT LUG 6 | I-NUT M2

8 | CONTROL PANEL 1 | CONTROL SWITCH

9 | POWER CABLE 1 | VCTF CABLE

10 | INLET FLANGE 1 [ 9300

11 | CASTER 6 | ROTATION 4 STOPPER

920
850
| ?350 |
@ | | o =
&
! .
(NS
&
|
[
200
[ (DBQQ
~
1t
™

°e88

¥¥x CHECK POINTS *xx

A, 3At CARBON FILTER BOX w5t &2

SPECIFICATION
MODEL NAME | NOD-75 OPTIN | -
FAN SPEC,

FAN DIVISION | TURBO BLOWER

AIR VOLUME 80 CMM STATIC 250 mmAq
MOTOR SSkw [75HP1] POWER 380V x 3P
FILTER SPEC.
ST PRE FILTER MATERIAL | POLYESTER
SIZE | 610 x 610 x 20t x 2EA AREA -
2TH CFM FILTER MATERIAL | GLASS
SIZE | 610 x 610 x 150t x 2EA AREA -
CARBON FILTER MATERIAL | CARBON
3 SIZE | 700 x 400 x 150t x 4EA AREA 88 Kg
¥x¥x PAINT COLOR xxx
BODY : EX8816¢(S) 5Y %
DOOR : EX8816-DICS46 %
2 e anwun _ Lbz2 b&lsnz a3 | cusTMR | -
n ISCALE 1/1| TME | MINUTE DUST COLLECTIR
NANOS  ["1RaWN [aPPROVED
saweqzuwy | BeN | - | UMD | NOD-75
wwwl-nanos.cokr 121031 -




100

1 | caBINET 1 | 1600 x 850 x 2250 x 1.6t
1670 2 | TuRBD BLOWER 1 | 7.5kw x 100CMM x 250mmAq
1600 3 | CARBON FILTER 4 | 700 x 400 x 150t

4 | CFMFILTER 2 | 610 x 610 x 292t
= 7 — 5 | PRE FILTER 2 | 610 x 610 x 20t
6 | DUTLET FLANGE 1 | o400
§ 7 | LIFT LUG 6 | I-NUT M2
S 8 | CONTROL PANEL 1 | CONTROL SWITCH
sl 9 | POWER CABLE 1 | vcTF cabLe
el 10 | INLET FLANGE 1 | 8350
11 | CASTER 6 | ROTATION 4* STOPPER
=
= A\
¥*¥% CHECK POINTS s
A, 37t CARBON FILTER BOX ™zt &7
1670 920
1600 850
| $400 | | 9400 |
(e}
| o | Q Q@ | | ol S

2478
2250

. DOOR + EX8816-DIC546 %

SPECIFICATION
] o MODEL NAME | NOD-100 OPTIN | -
=R G FAN SPEC,
B ] FAN DIVISION | TURBO BLOWER
[ AIR VOLUME | 100 CMM STATIC | 250 mmAq
i 0 ! MOTOR 75 kn [10 HP 1 POWER | 380V x 3P
3| FILTER SPEC,
Y ! i &l 57 |PREFILTER MATERIAL | POLYESTER
SIZE | 610 x 610 x 20t x 2EA AREA -
I CFM FILTER MATERIAL | GLASS
i b | W Nz | 610 x 610 x 292t x 2EA | AREA -
gy | CARBON FILTER MATERIAL | CARBON
SIZE | 700 x 400 x 150t x 4EA | AREA 88 Kg
i |
o *xx PAINT COLOR xxx
§ BODY : EX8816¢S) 5Y %

20 e aven Lje2 IQE-lstzs A3 | CUSTOMR | -

18,

nn |SI:ALE 1/1 TITLE MINUTE DUST COLLECTIR

NANDS | “pRawN [aPPROVED
saweazgen | BaM | - | MMS O  Nop-100
wwvl-nanos.cokr 121031 -




